THEORIE DE CHARLES WILLIAMS JOHNSON
DB4 x +/10 = DE 160/ 12000=1/75
DB4 x /20 =DF 160 x 27 = 4320
DB4 x +/90 = 3 x DE

DB4 x /160 =4 x DE
en partant du méme principe on obtient..
DBa x /14 = B4V ( 35, 684 952 539 )

point V 2079
FIN de cycle 25 920ans

point L 2079 - 1080 = +999
FIN de cycle 100 années de Pluton

/ l7

-/ D40, = 15.10580198828219 N,

/ /

| BsV = 35.68563279632171

point W
=25920/2-2079 =-10 881 ans

point A
=24840/2-999 =-11421 ans

DB, = 9.537204733397237 ™ — — pE

- point K
= 25920 - 2079 = - 23 841
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